1.  Which location has the biggest difference 
between the share of world population 
and share of COVID-19 vaccines?
A: Africa				B: India	
C: European Union		D: China

2.  What type of cars have had the biggest 
‘year-over-year’ increase in market share?
A: Petrol		B: Hybrid electric	
C: Plug-in electric	D: Diesel

3.  Compared to the time period 1951-1980 (the pale grey distribution), summer temperatures in 2013-2023 are: 
A: About the same 
B: The same average value, but with more variation
C: Generally hotter, and with more variation 
D: Generally cooler

4.  Which sector had the lowest 
greenhouse gas emissions in 2016?
A: Waste		B: Energy	
C: Industry	D: Agriculture, forestry, land use

5.  The length of the Tour de France peaked in 1926.  What distance was it that year?
A: 4,237km	B: 34.1km/h	
C: 5,745km	D: 3,534km

6.  Traditional contraceptive methods, including breastfeeding, withdrawal and the calendar method, are considered to be the least secure forms of contraception. Which region has the highest proportion of its population using traditional methods?
A: South Asia
B: Eastern Europe & Central Asia
C: Western Europe
D: North Africa & Middle East

7. Which two NBA basketball players have 
the highest average points per game?
A: Abdul-Jabbar and Malone	
B: Nowitzki and James	
C: Abdul-Jabbar and Nowitzki	
D: Jordan and Chamberlain

8.  When you buy a chocolate bar for £1, how much of the cost goes to the farmer who grew the cocoa beans?
A: 12p				B: 5p	
C: 3p				D: 43p

9.  What has caused food insecurity and hunger in Guatemala?
A: Conflict	     B: Pests	
C: Economic shocks	     D: Weather extremes

10. How much CO2 is emitted by the United States in 2014?
A: 5%	
B: 2000	
C: 5 billion metric tons	
D: 34 billion metric tons
